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Notations:

Question Paper Preview

1.Cptions showrl in gZreen color and with « icon are correct.

2 Options shown in red color and with # icon are incorrect.

Question Paper Name:

HINDI TRANSLATOR

Subject Name: HINDI TRANSLATOR
Creation Date: 2018-01-13 13:02:09
Duration: 150
Total Marks: 100
Display Marks: Yes
Calculator: None
M agnifying Glass Required?: No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required?: No
Protractor Required?: No
HINDI TEANSLATOR
Group Number : 1
Group Id: 50137343
Group Maximum Duration : 0
Group Minimum Duration : 150
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 100
Unit I
Section I1d : 501373102
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 501373169
Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 5013734067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

Destroying public property 1s a cognisable offence.

Options:
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Question Number : 2 Question Id : 5013734068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

Decorated with coloured lights, the house looked beautiful.
Options:
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Question Number : 3 Question Id : 5013734069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

Someone has walked away with my umbrella.

Options:
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Question Number : 4 Question |d : 5013734070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the most appropriate Hindi translation of the given Sentence.

In order to grow good crop we should use good seeds.

Options:

|« 3=O! BOA 39 & [T gH =S d= & JART e P FAWT g
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Question Number : 5 Question Id : 5013734071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

In Assam, hundreds of people were dislocated due to heavy flood.
Options:
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Question Number : 6 Question Id : 5013734072 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

What is the difference between these two varieties of potatoes?

Options:

. ar JrepHt g fFEAr # AT I’ 2
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Question Number : 7 Question Id : 5013734073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Choose the most appropriate Hindi translation of the given Sentence.

Today, there is going to be an inspection in our school.
Options:
| v ¥ AR faegera # fafreor @ I B
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o % =T gAY g & Adetor g Seem
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Question Number : 8 Question Id : 5013734074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

This year, 600 students received their PhD degrees from the University of Delhi.

Options:
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Question Number : 9 Question Id : 5013734075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

In today’s newspaper, the headline is about organ donation.
Options:

| % IS F FAER 97 H HET F a% H 7= fewiET g
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Question Number : 10 Question Id : 5013734076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

You should give your letter of acceptance in the college office before Friday.
Options:
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Question Number : 11 Question Id : 5013734077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

Both, public and private sectors contribute to the Indian economy.

Options:

| v 9RET wdeare A, sEeEs v R, @ A # deea E
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Question Number : 12 Question Id : 5013734078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

Assets and liabilities are the two sides of the balance sheet.
Options:

. ot 3R @i, goe 99 % & §ERT g

- Tafed 3R SaeREr, gost 99 & ar dEeT gl
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Question Number : 13 Question Id : 5013734079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

In summer, we usually go to visit our grandparents.
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Question Number : 14 Question Id : 5013734080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

The director has called a meeting of all the officers to discuss the new project.

Options:
1. %
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Question Number : 15 Question Id : 5013734081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Choose the most appropriate Hindi translation of the given Sentence.

We have already made all the arrangements for our trip to Cambodia.
Options:

|« BH FASAT @ A & AU gger F Tl cwawr & W @nfge
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Sub-Section Number : 2
Sub-Section 1d: 501373170
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 5013734082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

boarding and lodging
Options:
| v SIS JUT HEH

o % HISlel cIET
5 & Sel EE-

.« B e

Question Number : 17 Question Id : 5013734083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

Import
Options:

1_%%_5('&_"-

Question Number : 18 Question Id : 5013734084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

contingency allowance
Options:

1 ® 3 L

o % STEETRaT At

s % HTRIEHPT AT

4 v HTRIEHBAT ol

Question Number : 19 Question Id : 5013734085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

stagnation

Options:

| % FcTERre
o v TR

G- G
4 % HTEET

Question Number : 20 Question Id : 5013734086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

prohibition

Options:

ERGLCIE

E_Wﬁﬁ#_&r
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Question Number : 21 Question Id : 5013734087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question, choose the most appropriate Hindi translation of the given word.

achievement
Options:

1.W%W

o« 39elled

E.WW

4_%%

Question Number : 22 Question Id : 5013734088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

to comply with
Options:

gieAad FHTer
1 % 2
o % FTidEeel TeT=T

5 % TR HTAT

4 31!!3'“”?1:!1 che ol

Question Number : 23 Question Id : 5013734089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following question, choose the most appropriate Hindi franslation of the given word.

undisputed
Options:
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4 % FATGAT

Question Number : 24 Question Id : 5013734090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

confide

Options:

| % TR FTEAT
o % TUY HLAT

S_ﬁ?gﬂa:ﬁm

4 % AR FLET

Question Number : 25 Question Id : 5013734091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question, choose the most appropriate Hindi translation of the given word.

expand
Options:
1 % EEI‘I' hldAl

o TSFEdR &T

5 % FAT&T ST

. w ofTEr FAETET LT
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Question Number : 26 Question Id : 5013734092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following question. choose the most appropriate Hindi translation of the given word.

manual skill
Options:
1, # eI hIEl

o w BT & HH

o W Qlli iisﬁ AH

, v B e

Question Number : 27 Question Id : 5013734093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: O
In the following question, choose the most appropriate Hindi translation of the given word.

imconvenient
Options:

FgEaaTAAF

1. 2
= ® 3“#"3

e

5 2

4 % b o

Question Number : 28 Question Id : 5013734094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

assumption of charge
Options:
% ST

Y

1.

o » FIUHR TEOT
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Question Number : 29 Question Id : 5013734095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following question. choose the most appropriate Hindi translation of the given word.

appreciation
Options:

Question Number : 30 Question Id : 5013734096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the following question. choose the most appropriate Hindi translation of the given word.

memorandum of understanding
Options:

| % TIEH AOH

o W II”EIIE" A EIQEEI

2 I”E”E" 2T ed

.« TIH gfades

Unit [1
Section Id : 501373103
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 501373171
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5013734097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following cities of India hosted the fifth edition of the Global Conference on Cyber Space (GCCS)?

Options:
1 % Mumbai

> % Bengaluru
- u Hyderabad

4 « New Delhi

Question Number : 32 Question Id : 5013734098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following languages has been declared the second official language of Telangana?
Options:

1 % Hindi

> o Urdu
3z % Tamil

4 % Marathi

Question Number : 33 Question Id : 5013734099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following has been appointed as one of the two Deputy Director Generals of the World Health
Organization (WHO)?
Options:
1 ® Naresh Trehan
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-  Soumya Swaminathan

5 % Devi Shetty

4 % Amit Mittal

Question Number : 34 Question Id : 5013734100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following musical instruments does Ustad Amjad Ali Khan play?

Options:
1 % Sitar

- % Shehnai
5 « Sarod

4 % Tabla

Question Number : 35 Question Id : 5013734101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following is/was a famous santoor player?

Options:
1 + Pandit Shivkumar Sharma

- % Ustad Zakir Hussain
z % Ustad Bismillah Khan

4 % Pandit Bhimsen Joshi

Question Number : 36 Question Id : 5013734102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mass of an object is a measure of its:

Options:
. » Vvelocity

> % acceleration
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5 % pressure

4 « inertia

Question Number : 37 Question Id : 5013734103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which among the following is classified under Aves?

Options:
1 « Ostrich

- % Cat
= # Human

4 % DBat

Question Number : 38 Question Id : 5013734104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Who among the following is the only Indian citizen to have been awarded Nobel Prize in sciences (Physics, Chemistry.
Medicine)?

Options:
., » Kailash Satyarthi

5 % Amartya Sen

5 » Antoine Henri Becquerel

4 & C. V. Raman

Question Number : 39 Question Id : 5013734105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who among the following was/were awarded Indian National Science Academy (INSA)
medal for young scientist 2017?

Options:
1 % Hendrik Antoon Lorentz and Pieter Zeeman

> % S Venkatraman

3 « Vikram Vishal
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4 % Asim Punia

Question Number : 40 Question Id : 5013734106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
National Bank for Agriculture and Rural Development (NABARD) was established as
a part of the five-year plan.

Options:
. % fifth

> % fourth
5 « sixth

4 % seventh

Question Number : 41 Question Id : 5013734107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following activities belongs to the secondary sector?

Options:
, % Sugarcane plantation

- % Insurance

s % Strategy consulting

4 « Steel equipment manufacturing

Question Number : 42 Question Id : 5013734108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following presides over a joint sitting of the two houses of Parliament?

Options:
1 % The Vice-President

> % The Prime Minister

- « The Speaker of the Lok Sabha

4 % The President
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Question Number : 43 Question Id : 5013734109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following states does NOT have a Legislative Council?

Options:
1 % Bihar

> % Uttar Pradesh
- % Karnataka

4 « Himachal Pradesh

Question Number : 44 Question Id : 5013734110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A member of the Lok Sabha submits his/her resignation to:

Options:
1 % The President

> % The Prime Minister

- « The Speaker of the Lok Sabha

4 % The Vice-President

Question Number : 45 Question Id : 5013734111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following tennis players won the Men’s singles title at French Open 20177

Options:
, » Roger Federer

- « Rafael Nadal
- » Andy Murray

, % Novak Djokovic

Question Number : 46 Question Id : 5013734112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Which of the following nations won the 2017 ICC Champions Trophy?
Options:
1 % Australia

- » England

5z % India

4 « Pakistan

Question Number : 47 Question Id : 5013734113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As per Census 2011, which among the following states of India is the most densely populated?

Options:
1 « Bihar

> % West Bengal

3 % Kerala

4 % Assam

Question Number : 48 Question Id : 5013734114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following states of India has the longest coastline?

Options:
1 % Maharashtra

> « Gujarat

z % Tamil Nadu

4 % Kerala

Question Number : 49 Question Id : 5013734115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who presided over the first session of the Indian National Congress held at Bombay in 18857

Options:
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, » Dadabhai Naoroji
5 Womesh Chunder Bonnerjee
- » Badruddin Tyabji

4 % Sir William Wedderburn

Question Number : 50 Question Id : 5013734116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Mahatma Gandhi launched the “Non-Cooperation Movement™ in the year:

Options:
1 % 1942
5 % 1916
5 « 1920
4 % 1932
Urnit 111
Section Id : 501373104
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 501373172
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5013734117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Ocean : Island : : Desert: ?
Options:
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1 « Qasis
~» % Peak
- # Storm

4 % Camel

Question Number : 52 Question Id : 5013734118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the word that can be formed using the letters of the given word, using each letter only as many times as it appears
in the given word.

THEOSOPHICAL
Options:
1 ® CLASSIC

> « SOOTHE
s % LOCAL

4 % TOTAL

Question Number : 53 Question Id : 5013734119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In a row of cadets, Paramveer is eleventh from the left and Deshraj is twenty-third from the right. When the two cadets
interchange their places, Paramveer becomes twenty-sixth from the left. How many cadets are there in the row?

Options:
1 & 49

o W 37
3 W 48

E 36

Question Number : 54 Question Id : 5013734120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

BGEKO : AHIP: : FINE.: 7
Options:
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. % EIMS
> « EKMS
. « GKMQ

., % GIOQ

Question Number : 55 Question Id : 5013734121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The numbers below are similar (share a feature) in a certain way. Select the option that is similar to the three numbers
given below.

2313, 4541, 5661

Options:
1 % 3436

5> 3425
s % 2527

E 6775

Question Number : 56 Question Id : 5013734122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that is related to the third term in the same way as the second term is related to the first term.

| LSty e
Options:
1 # 144

o W 16
3 125

E 50

Question Number : 57 Question Id : 5013734123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The difference between the place values of ‘6" and ‘3’ in the number 52697231 is:

Options:
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| % 59970
- « 599970
s % 599907

4 % 600970

Question Number : 58 Question Id : 5013734124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is different from the remaining three options.
Options:

| % Temperature

- % Rainfall
5 » Precipitation

4 « Anemometer

Question Number : 59 Question Id : 5013734125 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is different from the remaining three options.

Options:
1 « Kipgq

5 % srqp

Question Number : 60 Question Id : 5013734126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Sulbha is Prema’s mother’s only son’s daughter. How is Sulbha related to Prema?
Options:

, » Granddaughter
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> % Aunt
3  Niece

4 % Daughter

Question Number : 61 Question Id : 5013734127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Take the given statements as true even if they seem to be at variance with commonly known facts and decide which of
the conclusions logically follow(s) from the statements.

Statements: All rocks are stones.
Some stones are black.

Conclusions: I. Some stones are rocks.
II. No rock is black.
Options:
. « Only conclusion I can be drawn.

> % Only conclusion II can be drawn.

z % Both conclusions I and II can be drawn.

4 % Neither conclusion I nor conclusion II can be drawn.

Question Number : 62 Question Id : 5013734128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
From the given options. select the one that does exact reproduction of the name and address given below.

Lt. Gen. Veer Kadam
Flat No. 314, Jal Vayu Vihar,
Sector 105, Noida,
Gautam Budh Nagar
Uttar Pradesh
Options:
Lt. Gen. Veer Kadam
Flat No. 314, Jai Veeru Vihar,
Sector 105, Noida,
Gautam Budh Nagar
1 % Uttar Pradesh
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Lt. Gen. Veer Kadam
Fiat No. 314, Jal Vayu Vihar,
Sector 105, Nolda,
Gautam Budh Nagar
> % Uttar Pradesh

Lt. Gen. Veer Kadam
Flat No. 314, Jal Vayu Vihar,
Sector 105, Noida,
Gautam Budh Nagar
5 « Ulttar Pradesh

Lt. Gen. Veer Kadam
Flat No. 314, Jal Vayu Vihar,
Sector 105, Noida,
Goutam Buddh Nagar
4 % Uttar Pradesh

Question Number : 63 Question Id : 5013734129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst
the four alternatives for the unsolved equation.

12 x4=160
14 x5=221
16 x7=7
Options:
;. % 268

-« 305

Question Number : 64 Question Id : 5013734130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arrange the given words in a logical sequence, from small to big (with respect to quantity of water), and then choose
the most appropriate sequence from amongst the options provided below.

Lake
Pond
Sea
Ocean
Puddle

b bd

o

n
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Options:
| 52154

, % 185,824
2 % 5,2,3,1,4

4 xR

Question Number : 65 Question Id : 5013734131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If in a certain code language, ‘rumour’ is written as ‘348243° and ‘true’ is written as ‘1346°. Then, how will ‘tremor’ be
written in that language?

Options:

; ® 314281
> % 136283
5 « 136823

4 % 423862

Sub-Section Number: 2
Sub-Section 1d: 501373173
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 5013734132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Surabhi sold 80 kg of wheat. She sold the first 20 kg at a profit of 20% but the rest at a loss of 10%. What was her
overall profit or loss percentage?

Options:
1 % 5% loss
> o 2.5% loss

- » 10% profit

4 % 2.5% profit
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Question Number : 67 Question Id : 5013734133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bag contains red, blue and black balls. The ratio of red to blue balls is 3 : 5. The ratio of black to red balls is 3 : 4.
The minimum number of balls in the bag is:

Options:

1 56

o W 60

o o 41

4 % 48

Question Number : 68 Question Id : 5013734134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Varun invested a certain sum of money at x% p.a. at simple interest for 50 years. At the end of 50 years, Varun got back
4 times his original investment. What is the value of x?

Options:

1 % 3

Question Number : 69 Question Id : 5013734135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two trains, one 160 m long and the second x m long were travelling in the same direction on parallel tracks. The 160 m
long train came from behind at a speed of 76 km/hr and overtook the x m long train travelling at a speed of 70 km/hr.
For 3 minutes, at least some parts of the two trains overlapped. What is the value of x?

Options:
1 #% 144 m
o o 140 m

z % 150m

4 % 130m

Question Number : 70 Question Id : 5013734136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
Jagbir blended 8 kg of one type of jaggery with 12 kg of another. He sold each kg of the blended jaggery at a price 50%
higher than the cost price of the first type of jaggery per kg and made an overall profit of 25%. What is the ratio of the
cost prices of the first and the second types of jaggery?

Options:

1« 3:4
> # 2:3
- ® 1:2
4 % 2:1

Question Number : 71 Question Id : 5013734137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The difference in the lengths of the shadows of a pole cast by the sun (at two different times of the day) when the angles
of elevation of the top of the pole measured from two points on the ground on the same side of the pole were 60° and 30°

was given as % m. How tall was the pole?
Options:

2043
1 #® 3

m

> % 10/3m

1043
=3 W 3

m

4 « 10m

Question Number : 72 Question Id : 5013734138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A, B and C can respectively complete a task alone in 26, 39 and 52 days. The trio started working together, but A and B
both left 13 days before the task got over. For how many days did the three work together?

Options:
1 ® 22
2.« 9

5 W 13

4 % 8
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Question Number : 73 Question Id : 5013734139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average of the marks obtained by some girls in a test was twice the average of the marks obtained by some boys in
that test. If there were 11 candidates in all, and the average score of the boys was 12 and the total marks obtained by all
the examinees was 168, find the number of girls taking the test.

Options:
1 6

2_%3
3. ¢ 3

4. % 4

Question Number : 74 Question Id : 5013734140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o o g Sk ; :
The numerator of the fraction s increased by 2 while its denominator is reduced by 2. What would be the percentage
increase in the new fraction over the original fraction?

Options:
1« 150

-~ % 80
o W 60

EE 50

Question Number : 75 Question Id : 5013734141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Arya bought two trousers from the wholesale market and paid ¥ 900 in all for the same. While he could sell the first one
at a profit of 12%, to clear stocks he had to sell the second at a loss of 15%, thus neither making a profit nor a loss on
the whole. What was the cost price of the second pair of trousers?

Options:
1 ® T450
> % T 500

= « T400

4 % T550
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Question Number : 76 Question Id : 5013734142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
0.4 of a number equals 0.75 of another. If the two numbers add up to 690, the greater of the two numbers is:

Options:
1 % 425

5« 450
s % 400

4 % 475

Question Number : 77 Question Id : 5013734143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A sum of money became < 2,700 in two vears. If the simple interest offered per annum was 2% more. the amount would
have become T 2,800 during the same period. Find the original sum and the rate of simple interest offered every vear.

Options:
. % <5,000;2%

5w T 2.500;8%
2« T2.500; 4%

. % T 5.000; 4%

Question Number : 78 Question Id : 5013734144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Rashmi can either walk at a speed of 5 kin/hr or cycle at a speed of 10 kimv'hr. To cover a distance of 70 km, Rashmi
takes 10 hours. How much of the distance. in kilometres, did Rashmi cover on foot?

Options:
1 @ 30
o W 25

5 35

E 40

Question Number : 79 Question Id : 5013734145 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Raman mixed 8 kg of one variety of wheat with x kg of another. If the cost per kg of the two varieties are in the ratio 3 : 2,
the ratio of the selling price of the blended wheat per kg to that of the cost price of the superior variety of wheat per kg
is 1 : 1 and Raman makes an overall profit of 25%, what is the value of x?

Options:
1 ® 0

o W 10
o W 11

4. ¢ 12

Question Number : 80 Question Id : 5013734146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The distance of the foot of a 20 m high tower from a point on the ground is 20 /3 m. What is the angle of elevation of
the top of the tower from this point?

Options:
1 ® 60"
o W 45°
o W 30°
g #® 15°
Uit IV
Section Id : 501373105
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 501373174
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5013734147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

AT el § § IO s & IEEaT]

Options:

1_%?1
E_Wﬁ(_'r

3.%m

4 o D LN

Question Number : 82 Question Id : 5013734148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Frtaf@a aeal & ¥ 57 e 741 gem?

Options:

1 ® Qm

Question Number : 83 Question Id : 5013734149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T I 7 W@ifeg o= 1 T BT F7r gem?

Fercled TOUT A T 9UH SR Ae
Options:

1. % 398

> « G5
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Question Number : 84 Question Id : 5013734150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT ear # HiFar U [Wifed g &1 JATIaT=T dAar &7

e AU BT F
Options:

| w HIF
5 % HgHEl
3 v HEd
4.%331;[

Question Number : 85 Question Id : 5013734151 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A BT 91T oreet & T U o= FAT 7

ST = WS AT A
Options:
1 % 9rdiel

E_gmaa
CICE]]

o W o,

4 % THeRa

Question Number : 86 Question Id : 5013734152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STET Juit @Y JAUgied glar § F@T IeTHT el ge?

Options:
1 #% dAHR

o W D
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3 % 3UH

4_%3?%&"

Question Number : 87 Question Id : 5013734153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e + 3% T AURT FAT ZEM?

Options:
CICECIGEE]

1 o .

o W =3
EGEGEIR

5 2.3
ATTATRT

4 % 2

Question Number : 88 Question Id : 5013734154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Al weel # ¥ HIa-T7 U et «1a1 27
Options:
1 ® helch

o % el
3 W aiat—"
4 % AR

Question Number : 89 Question Id : 5013734155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR I # I@Rg U FT THTH &7 2rem?

Hes # IEEIE FARA Sga-H 2l

Options:
drg{hﬁl e [

1.
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Question Number : 90 Question Id : 5013734156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A feaT =T arem =GR e A "er g, SeH § e s ameor # 2R & e g
3RS AT T =TA HITST

FHiadT TIE a:raqaaﬁaa?rma‘rmﬁa@-ﬁrmﬁﬁwgé
Options:

| % TiadT WAL F
o % HIollper fopam

5 Fﬁ'E’ﬁFI'ﬁ'

v sga-fa Tt S g‘é

Question Number : 91 Question Id : 5013734157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frmfofte & & #ia-ar a7 o= geme?

Options:

IF AafFar & & Ay 9T &1 H13

1 ® 2

v L i Sgd TS

. x BH STET B F=aerT gl

L fordr 3T o3 &7 gorarn

Question Number : 92 Question Id : 5013734158 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
FieF-|T 5T T gieeEr-rHtoET 7@ g2
Options:

|« FRIET - AEEAT
o % #ART - FANHUAT
5 % TMUR - AT

4.&"‘?'1?'%}@

Question Number : 93 Question Id : 5013734159 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frrafafe ae & @ifera Jgrey & 3 9T
HTcHTEaTE & o 39l & o disar o 37T &

Options:

| v ST FH AT T FAT|

ST & FROT FTH 3T SIS

o ®

5 % 3cHTEd ga|

4 % T FIA H HATHH FILATI

Question Number : 94 Question Id : 5013734160 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
r=fafag =g 7 mea ama:ragaa?rmzﬂ?ﬂ‘?
HT & QAT Tar?

Options:

1.%311

> % &

5 W F@'W%f
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4 HTT ST

Question Number : 95 Question Id : 5013734161 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Il F FT T & AR @ F AR Seiled F TEr HY FAT grem?

Options:
s F5 F FIIE g 35|

1, #

5 FUA AT FE F el g

. Saar '-|§=4 & 39T &1 FH HLAT =TTl

4w & T3l rer-arer 7EF =er @A

Sub-Section Number: 2
Sub-Section 1d: 501373175
Question Shuffling Allowed : Yes

Question Id : 5013734162 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cuestion Label - Comprehension

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



A & @rT TEEmy # Yga @ AT Al & 3o}
it

AT & 3 TUHAAS ITHA HTaNT T&F e TgIgT ATET
ST FF BT TG AAAT? 3AFT AeH 2 Hagal, 1904 Hr
FeoR FaoT & IO AT H fAreeia aREaR & gan
oT| 3Tt e gfeag fae@merw wa #ref Heas #
ge| ifdee Jeoer 9 & AfFET # 3= 3w
IS JI@T \IOT AT A 1951 F FAEIA Agw
& dAqed A § FAF FAC & AgHAT g fHT O
1952, 1957, 1962 & IATal H Fegisal HIAF Hr foramm|
27 #g, 1964 # STATEIATS Hg® HT Heg g5l 9 A 1964
H el 3T F TUHAST T 9€ §HET| 26 FAA44T, 1965
H 3egia “FF 9 - I FEET &7 ART 39 S
11 FAal, 1966 & IT FI dATAHe H Tiehed &
Tegqid 3 W & & AT & FAGIG W FEABR
I gU AR WET HE G Tl T A0 F =R A
IAHT WiEE, rwfET, SAWET & v 3= muTe
SRT I ® TFEATT fFam| sia & sfogw & 3 @
HAT TEeT

Sub questions

Question Number : 96 Question Id : 5013734163 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
olTel SEIgY AT &1 e H FEr g3 a7

Options:

|« FERTSE & Al e #

TS & HaT9 T &
= ® 4

Bfmqaara:gﬂmaﬁaﬁ

, » gexEe A
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Question Number : 97 Question Id : 5013734164 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AMEN =T & FHIF-TT 9 GHTAT?

Options:

. x egurd

o ® 2

3 ® %ﬁw

4 o FTFHAT

Question Number : 98 Question Id : 5013734165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
el TEIGT AMEA HT 7 Fal W g‘é”
Options:

1. % CED
o W mﬂ-
3 #% Scal qeT

Question Number : 99 Question Id : 5013734166 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

26 AT, 1965 F omEsr S & &r & HiT-mr aAnr TIr?

Options:

| % IR WA §

., % oo ATRA

5 v ¥ F9 - FT T
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L % T AERTSE

Question Number : 100 Question Id : 5013734167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

oTE ST o GUTHHAT U e THTaT?
Options:

9 T, 1964

11 5=, 1951

= ®

.« 21 73, 1964

L« 2 ¥FEET, 1904
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